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TH X 7 #i Wt Im /n #i W) Im /n #i Wt fm /n i) W) Im /n
s p H 80 ~ 82 |81 |0,12] 80 ~ 82 [81 [0,12] 80 ~ 82 |81 [0,12] 80 ~ 83 |82 |0 /12
IE D O 6.6 ~ 10 |85 [0,12] 6.8 ~ 10 | 86 [0 ,12] 6.9 ~ 10 | 86 |0 12| 6.9 ~ 10 | 87 |3 /12
B COD 06 ~ 1.4 |10 |0,12] 06 ~ 1.2 1.0 |0 ,12] 1.0 ~ 1.6 [ 1.2 |0 ,12] 0.7 ~ 1.4 | 1.1 [0 /12
5 S S 2 ~ 5 4 |-,12] 2 ~ 4 3 |-,12] 2 ~ 3 2 |-,12] 1 ~ 5 3 |-/12
W K EREE — — [-/ - — — |-/ - — — |-/ - <18 x |0/ 1
B [~ e <0.5 % |0, 1 0.5 x |0/ 1 <0.5 x |-/ 1 <0.5 x |0/ 1
T ND * |10/ 1 ND x |0/ 1 ND x |10/ 1 ND * [0/ 1
TILFE LK ER ND * [0/ 1 ND * [0, 1 ND * [0/ 1 ND * |0/ 1
L <0.002 x |0/ 1 <0.002 x |0/ 1 <0.002 x |0/ 1 <0.002 x |0/ 1
fE HRIT <0.001 * [0/ 1 <0.001 * |0/ 1 <0.001 x |0, 1 <0.001 * |0/ 1
% & <0.005 x |0/ 1 <0.005 x |0/ 1 <0.005 x |0/ 1 <0.005 x |0/ 1
é‘ A2 7 2 <0.005 x |0/ 1 <0.005 x |0/ 1 <0.005 x |0/ 1 <0.005 x [0/ 1
fitt & <0.001 x |0/ 1 <0.001 x |0/ 1 <0.001 x |0/ 1 <0.001 x |0/ 1
Tk R <0.0005 x |0/ 1 <0.0005 x |0/ 1 <0.0005 x |0/ 1 <0.0005 x [0/ 1
metes ommaEE| <0.01 ~  0.06 | 0.02 [0 , 12]<0.01 ~ 0.050.01 |0 /12]<0.01 ~ 0.16 [0.05 [0 , 12]<0.01 ~ 0.07 | 0.02 [0 , 12
il <0.002 x |-, 1 <0.002 x |-/ 1 <0.002 x |-, 1 <0.002 x |-, 1
Hen 0.002 x |-, 1 <0.002 x |-/ 1 <0.002 x |-, 1 <0.002 x* |-/ 1
B | BRPESR 0.011 x |-, 1 0.005 * |-, 1 0.005 * |-, 1 0.003 * |-, 1
% | vRfRE~> 0.002 x |-, 1 0.002 x |-/ 1 0.004 x |-, 1 0.007 x* |-/ 1
H 7 A=N <0.005 x |-, 1 <0.005 x |-/ 1 <0.005 x |-, 1 <0.005 x |-, 1
H 5o 0.7 x |-/ 1 0.7 x |-/ 1 0.7 x |-/ 1 0.7 x |-/ 1
EHES 4.1 * (-, 1 4.2 * |-, 1 4.3 * |-, 1 4.3 * |-/ 1
7= /)—)VHE <0.02 x |-, 1 <0.02 x |-/ 1 <0.02 x |-, 1 £0.02 x* |-, 1
BEfereRE  1<0.001 ~ 0.010 | 0.003| — / 12{<0.001 ~ 0.007]0.002 | - / 12{<0.001 ~ 0.013 [0.004 | — / 12]<0.001 ~ 0.010 [0.002 [ -/ 12
. e 0.011 ~ 0.026]0.016{0 , 6 [0.005 ~ 0.022[0.012|0 , 6 [0.007 ~ 0.023[0.013|0 ; 6 |0.008 ~ 0.022/0.013 [0 ; 6
% ToEZTREZE# | <0.01 ~ 0.07 | 0.01 |-/ 12[<0.01 ~ 0.17[0.02 | -/ 12[<0.01 ~ 0.22 [0.04 | -/ 12]|<0.01 ~ 0.30 |0.03 [ -/ 12
i fEfEREZ=E | <0.01 ~ 0.06 | 0.02 | -, 12]<0.01 ~ 0.05]0.01 |-/12[<0.01 ~ 0.16 [0.05 | -/ 12]|<0.01 ~ 0.07 |0.02 |-/ 12
AHEAREZE | <0.01 ~ <0.01]<0.01| -/ 12]<0.01 ~ <0.01[<0.01]| -/ 12]<0.01 ~ 0.01 [<0.01| -/ 12]<0.01 ~ <0.01|<0.01| -/ 12
PEH 0.08 ~ 0.34 [0.19 [0 , 6] 0.056 ~ 0.33 |0.21 [1 /6] 0.18 ~ 0.35 |0.28 |1 / 6| 0.03 ~ 0.47 [0.26 |2 / 6
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